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General Instructions :

1.

W

The question paper comprises of two Sections, A and B. You are to attempt both the

sections.
All questions are compulsory

- All questions of Section-A and all questions of Section-B are to be attempted separately.
Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in

one word or in one sentence
Question numbers 4 {0 6 in Sections-A are two marks questions. These are to be answered

in about 30 words each.
Question numbers 7 to 18 in Section-A are three marks questions. These are to be

answered 1n about 50 words each
Question numbers 19 to 24 in Section-A are five marks questions. These are to be

answered in about 70 words each.
Question numbers 25 to 33 in Section-B are multiple choice questions based on practical

skills. Each question is a one mark question. You are to select one most appropriate

response out of the four provided to you.
Question numbers 34 to 36 in Section-B are questions based on practical skills, Each

question is of two marks.
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WT-31 / SECTION-A

1 wiex ufadi &t srafeafa siv ward fafed ) .
State the location and function of gastric glands.

2 T AT F1 U 60 W 1 1s H 3 gR1 =4 Sl 1 S[e # T B A
Power of a lamp is 60 W. Find the energy in joules consumed by it in 1s. %g%

3 Seil & 1 Q1 IReRe @il % A fafa 1
Name any two conventional sources of energy.

4 9 & i et sl @ faeda sfifea gy T e 2

Zn(5)+CuSO0yq) = ZnSO4(aq) TCuys)

79 YA 1 HRU Fied g Hifeg |

Reverse of the following chemiical reaction is not possible :
Zn () +CuSOy4(aq) = Z1S0 4(aq) +Cuy)

Justify this statement with reason.

5 ferisrer 9ol a1 el g7 fafigw) gz fem yar ffifa ffm S 87 4R & o o o swm e 2
WA TR ?

Write the chemical formula of Bleaching powder. How is bleaching powder prepared ? For
what purpose is it used in drinking water ?
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(i) w&‘wﬁfﬁaﬁmﬂ?%r

Gi) 39 A B uiEd e wahd A T S @ e g ot g 8 e

Define neuron. Name the parts of the neuron where :

(i) information is acquired

(i)  impulse must be converted into a chemical signal for onward transmission

U F99H Tail J 2g W Hethe fhea &1 7 forar |

() TRl <1 Qaqonl =t g SR |

(i) e T sIfufsar s A fafaw)

(i) 39 Afafwan o1 vaEfte gHiteo fafaw

2g ferrous sulphate crystals are heated in a dry boiling tube. Fe se :

(i) List any two observations.
D

(ii) Name the type of chemical reaction taking place.

(iii) Write the chemical equation of the reaction.

o g <l o 9 el 5 ) o e ) e o e et w35 fore e w2

(a) 399Ul o1 Ty A 9o g fafe |

(b) S T AE O FI 5 F fAfsm foran s @ o g Waﬁgwﬁm@m%iw
T gHte e fafau |

A white coloured powder is used by doctors for supporting fractured bones.

(a)-  Write chemical name and formula of the powder.

(b)  When this white powder is mixed with water a hard solid mass is obtained. Write
balanced chemical equation for this change.

3 of 14
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() R agall F T ave & wma s o R eRe e T8 B
(i) 5% sviemme A vyt srdmme T §)
(iii) oY ferepa wanfem et ¥
Give reason for the following :

(1) Hydrogen gas is not evolved when most metals react with nitric acid. W 2

N‘JQ@ i
\e

(i)  Zinc oxide is considered as an amphoteric oxide.

(i) Metals conduct electricity.

10 (a) ﬁmﬂm%ﬁaﬂﬁmmm@ﬁwﬁﬁmm%ﬁhmﬁam 3 tD
wdm%|mﬁsﬁmﬁwmﬁ$aﬁmwmafmwmml r)H

(b) v S A H T w § A Faf @ S s 3ed e e 31 Rl Ty Y\
Tt 19 faererdl 21 sﬁﬁgﬁa@umﬁmafnﬁmwaﬁﬁmmm%m e
% x ¥4Y03

(a) A solution of Potassiuth chloride when mixed with silver nitrate solution, an insoluble white
substance is formed. Write the chemical reaction involved and also mention the type of the chemical

reaction.

(b) Ferrous sulphate when heated, decomposes with the evolution of a gas having a charagteristic
odour of burning sulphur. Write the chemical reaction involved and identify the type of reaction.

%%ﬁsou%
11 ﬁwﬁﬁﬁwﬁﬁqaaﬁaﬂﬁqﬁﬂmmﬁﬁmww%ﬁw%mmﬁf@m 3

Describe heterotrophic mode of nutrition and give its examples. Name the three types of this

nutrition,

12 sta:aeE v S 1 aE e i d & e i § o s ¥ o e A 3

Give reason to explain why endocrine glands release their secretions into the blood directly,

gedof14
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13 vawdl o EEA G e gR aheied eiR s 3
(i) VETHA QT (ii) YA 1 AR R | \.6{")/
S
Explain the structure of bronchi with the help of a neat diagram and label on it /\q

(i) trachea (i) bronchiole
14 forelt fered seat 1 SrgAdien 750 W; 200 V ¥ wReer gafTe 3
()  Evge fagd un| (/(;?/g\
() % ¥ A Sagd H 9RRY | w % X
() SR ERT2 9 A SuEd S Q‘X/"; f\%ﬁr)/@‘f’

An electric iron has a rating of 750 W; 200 V. Calculate :

(1) the current required. F Q © }/MP\ % =
(ii) the resistance of its heating element. R j}; Q - i}{@ %;’j
(iii)*  energy consumed by the iron in 2 hours. % ¢ P R _E/ o
R 22
15 grhid &F I o Fed 7 T el i gefi i P 3_}
() g e T g e § N
. 3=
(b) e 8 (EN A% 9% B § 60”0 *()é.’- 1&"%9 "
What are magnetic field lines ? Justify the following statements : V@)'r‘*w e % -[-:(-
(@) Two magnetic field lines never intersect each other. 2 V7 %” b e
(P gﬁ
(b)  Magnetic field lines are closed curves. U -\ N ¢
ARy

50 0

16 WWI m%m%mmwmwammm%aﬂxw %,50
ALl el 218 [ ¢ -
J‘* ’; Q}%@‘ __,f}jx Zga)éf r 0 . \QQ%OM
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19

20

Explain the use of an electric fuse. What type of material is used for fuse wire and why ?

vt A b e i T e T @ SN e e e g ¥ o9 99 e g w3
Frifafy ) TEaR vdaEg @ T G T F qEEh $ Sa g a4 e 6 s S

@) N9 & SR a fatag |
i) Sa TR G ) w9 @ e i g i el W
(i) rita 3 i v @ w4 R 42

Hemant visited his neighbouring village where a biogas plant has been installed recently. He
was very surprised to see the working of the biogas plant. He told his village elders about the
advantages of setting up a biogas plant in their village. Now answer the following questions :

(i) What are the advantages of a biogas plant (any two)
(ii) Why is a biogas plant commionly called as “gobar gas” plant ?

(i) ~ Why were the villagers very much impressed with Hemant ? w e %—Meﬂ

ety frded &1 iU oifEd | T Aifenrg 999 | fagd Scae | 8 ot = fafead 3
Define the process of nuclear fission. Write the steps involved in generating electricity in a

nuclear reactor.

waqfwt%mrrszﬂamaﬁvﬁ yrgeff qen aqfwmwﬂamaréﬁ gl Rl 37 SRl ¥ fremu @ 5{,\\]9
Mﬂ‘{uﬁmoqucﬂdaﬁﬁqmq!

Draw a schematic diagram of the various steps involved in the extraction of metals from ores W
for metals of medium reactivity and for metals of low reactivity. N

, 2N
(@) ¥ w0 F foe 5 @ e ga ah At s 2R ¥ u framan w5 12
Fifu Pb

(b) A TN 7 TN HfCAH TRGRIRS 1 Wi forere AR o S £ @ w4 S H
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(a) [llustrate an activity to investigate whether all compounds containing hydrogen are

acidic.

(b) ~ What happens when hydrochloric acid and sodium hydroxide are dissolved in water.
Explain giving equation of each.

Hed R NQol

21 TR THIA F41 B €2 9N WER % URY &A1 Seora ST 3% <9h Pl o whig avie S
it |

What are plant hormones ? Give four different types of plant hormones and state their
functions briefly.

22 A = Tram fafaw | warmmen 3 59 frem & 9@ & for Amifsa faga 9ftug €ifen) afzem s
frdt aifaes amee & fau fasamr 3R fog@ o & & o g@=h 1 S9! foFY JR 1 W6
TS 1T ? SARSAT ST o 319 $6 TTH 1 ITANT =ieTah 1 TRy Td H H fohE YR il |

State Ohm'’s law. Draw a labelled circuit diagram to verify this law in the laboratory. If you
draw a graph between the potential difference and current flowing through a metallic
conductor, what kind of curve will you get ? Explain how would you use this graph to
determine the resistance of the conductor.

23 (a) TR YRER AR & THS ol o At SR $6h TR A S reen 8 e S

(b)  SeoE i fof e 2 T el § g e A feod B WWWWWW
ST T ? (STTH FH YA B )

() oo FU e A o fa s A R
(i)  3TCE HU IR & B & T@IeT S WHIRR TR e

(i) SO BV R & H &1 I o e T e B s
e TR0l T 3194 TR i HRY Gfgd g sife | "

(a)  Draw the magnetic field lines through and around a single loop of wire cariying
electric current.

(b) State whether an alpha particle will experience any force in a magnetic field if (alpha
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particles are positively charged particles)
(i) it is placed in the field at rest.
(i) it moves in the magnetic field parallel to field lines.
(iii) it moves in the magnetic field perpendicular to field lines.

Justify your answer in each case.

g@ﬁuéﬂ@ﬁw%?m?ﬂ?aﬁamﬁﬁqﬁmlwwmqmﬂw% 5
BRYT ST rThTT & Tl eI F o 0 T Bramreny w1 58y § ol i

What are magnetic field lines ? List three characteristics of these lines. Describe in brief an
activity to study the magnetic field lines due to a current flowing in a circular coil.

M-8 / SECTION - B

e 7 weAfed! % fox fed mu ¥ ) s 9 HCl g 18T ot 3R NaOH & feaa ¥ 1

(i) (i) (iii)

a3 HCI 73 WIS NaOH 1 faerad
&t w6 g -

.(a) [%1 pH I &R 1 & pH | aifte

(b) I pH I SR % pH A iferes 71
(¢) I, I %l pH SR B |

(d) 1% pHI 3R % pH ¥ e T

Given below are diagrams of three test tubes containing dil. HCl, dil. ethanoic acid and NaOH

solution.
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() % | (i) g (i) §

dil HCl dil ethanoic acid  NaOH solution
Choose the correct statement ;

(@)  pHoflis greater than pH of II and 111 | ’
(b)  pH of Il is greater than pH of [ and L.
() pH of I, II, Il is equal. \ -

(d)  pH of Ilis greater than pH of I and IIL.

26 mmﬁpHmmaﬂﬁ%m@rmaﬁmﬁEWﬂWW|Wﬁwﬁmﬁﬁ@ 1

& pH frgg T Tl SR WA fof e T
(a) e @ (b) IS TRe el
(c) T 8Tl (d) BB

A student was provided a sodium bicarbonate solution to determine its pH value. He put a few drops
of this solution on the pH strip and observed that it :

(a) turnedcblue (b) ~_had no change \\Qq,

: )
(c) turned red (q]‘ _ turned green

37 agNaOHﬁamaika‘m@r@wmaﬁ?—
(a) oot T ) TR TR B €

(©) axfurfaar & T €|
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Dilute NaOH solution and solid sodium carbonate :
N

b react very slowly
(b) . \quw 2
(d)  react vigorously V\Q D\-\

(a)  reactonly onheating

(c) do not react

ﬁﬂﬁ?ﬁ“ﬁﬁwﬂﬁ’{ﬂmﬁﬁ@ﬁéﬁwwaﬁmm%ﬁﬂ%ﬁﬁﬁmﬂ%ma : 1

28
@  ZnSO (b)  ALEON b,
()  CuSOx (d)  FeSOq \
Reddish - brown deposits will be seen on aluminium siri_p when it reacts with an aqueous
solution of : '
()  ZnSOs (b). AL(SOu)s g—%&
()  CuSOj (d)  FeSOs a
29 g 3R AR w1 S TE TWEw il TR wm e © “K 1
(@)  Zn(s), FeSO4(aq) (b)  Zn(s), CuSOs4(aq) Nga
()  Al(s), FeSOs (aq) (d)  Fe(s), ZnSOx4 (aq) !’\;:6}
The set of metal and chemical which will not react together is : /ib
(@  Zn(s), F eSOex_ (aq) | (b)  Zn(s), CuSOy (aq) i
() Al(s), FeSOs (aq) (d)  Fe(s), ZnSOq (aq)

0 dftm i & v R, @ R, 5
' I WY I =3
IRYY ARG TGN HTaT 8 ? 1 i . *i?qu%mw 1
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< IRGY A T SN - ,r-}

(@) SR V S HE uIsdie W R [ % TE e |

(b)  ©RII 1 T UISAieh U aleed] V 51 Tal el 1,

(0 2 w1 e deed V & w8l wiadien |
(d) 2 uRI T T SR Vi T 96 e

To find the equivalent resistance of a series combination of two resistors R; and Ry, a studen

uses the circuit diagram shown below :

P
Ry
Ry
LU
K
Circuit will give
(a) correct reading of voltage V, but incorrect reading for current I

(b) correct reading of current I but incorrect reading of voltage V.
(c) correct reading for both current I and voltage V

(d)  Incorrect reading for both current I and voltage V. o
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31 maﬂuoooéwf%lﬁ%ﬁﬁmwﬁaafﬁm%mw | ftoret Wiy grm-

(@)  100Q ¥ 3ifesw

(b)  100Q ¥ FH T 10 | FH T

() 109 =¥ ‘

(d) 10 % e wg 1000 § ifad Tl

Resistors of 1Q And 100Q are arranged in parallel. The resultant resistance will be :

(@)  More than 100Q

(b)  Less then 100Q but not less

(c)  Lessthan1Q

(d)  More than 1Q but not more than 100Q

32 ‘mqﬁw%@mw%m%’ﬁmﬁﬁﬁmﬁw@mw 1
0k o THTe e Saell Sl ¢ | U1 &1 e § Hih :
(a) Ucehied ogd AT €| J
(b) T Fe @ e e 9w G
(@ e e SR Fi frefaw ST g

(d) Tcehied ST © |

In an experiment to show that ‘sunlight is necessary for photosynthesis’, the leaf is boiled in
alcohol for few minutes using a water bath. It is essential because :

(a)  Alcoholis highly volatile
(b)  Steam from the water bath heats the leaf rapidly
()  Steam from the water dissolves the chlorophyll

(d)  Alcohol is flammable

33 ‘yg@d & SNH CO, IS Bidt &' w3 T 1 9T 319 R U AR A $S TaArqEl B S, S 1
for 9 few e foet F fowmn 0 €1 @2 o1 # e IREdd S e IR SmER €
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(1) O WaTel § KOH faee e § o =ifed 3R st # ST B ot
(b) ST st ® o el $iR v § KOH faerar |

(©) KOH faera Teiress § o1 =feq el Siel o2 wame | |

(d) B wEdel ¥ KOH faaad o =fed e sl § wiel |

Taha, while setting up the experiment to show that ‘CO, is evolved during respiration’
committed some errors, as shown in the figure below. The change in the set up that will give

correct results is :

5 L OH

(a) KOH solution should be taken in the small test tube inside the flask and germinating
seeds in the beaker.

(b)  Water should be taken in the beaker and KOH solution in the flask.

() KOH solution should be taken in the flask and water should be taken in the small test
tube. ;

(d)  KOH solution should be taken in the small test tube and water in the beaker.

34 ferslt o1t 7 <ot 1@ g fom 931 9 F 5 e o S 3 onaR W, et sitifEar 2
& fowa #, a7 St frend frenrer wehan § ST Sooia ifeT |

A student added water to quick lime kept in a beaker. State the conclusions he would draw,
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about the chemical reaction that takes place, on the basis of his observation.

' 2
35 qRi" 1 TIfEd 0 T IR B fAfEy |

State four factors that affect resistance.

36 mﬁaﬁawmaﬁﬁﬁﬁaégéﬁmwmﬂé%lﬁﬁwﬁ@ﬁwm%m 2
39 R0 {7

You have been provided with a freshly plucked leaf of Rheo or lily. What will you do to
obtain the transparent leaf peel ?

-0000000-
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